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Scharnieren - Charnieres

Verzinkt en gepoederlakt in ral 9005.
Galvanisé et thermolaqué en ral 9005.
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Verzinkt en gepoederlakt in ral 9005.
Galvanisé et thermolaqué en ral 9005.
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Verzinkt en gepoederlakt in ral 9005.
Galvanisé et thermolaqué en ral 9005.
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Verzinkt en gepoederlakt in ral 9005.
Galvanisé et thermolaqué en ral 9005.

SP-130M24-D

580

55

A —
o 8 —— 1)
T — Y J o
T L _l T T
T T
[te) A [te)
5
R=20-90 40 35
600
50
25 (25)
D =
pany N
NP
0.8 Q
. al
3 15 34 || [15
© 0.25 0.25 A
8 8 Y
160.5
N ©
o
% @ &
s, 20 135 270
& 2
& 2
< Q/ A
ol € N - 3 o | o =
I NN s | N =
YL ]
e
& O
J
IS ©
Ry =
¢\'2«?’ (15) 50 15




Verzinkt en gepoederlakt in ral 9005.
Galvanisé et thermolaqué en ral 9005.
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Verzinkt en gepoederlakt in ral 9005.
Galvanisé et thermolaqué en ral 9005.
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